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= <B
,
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~ Projec:i
-
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(1
,
1) - (** ) =

[* ]

(scalar component (E)
(h) i = <, -2 ,2)

(ii) v = i = < ,
0
, 0)

: ,
ad

(3 , 0 ,0

wi = (a -22]
scalar component

= 3

(iii) v = j = <0 , 1 , 07

w== (1 ,
0

b
= (a-2 , 07



Wz= 43, 0 , 77

Scor component = -2

E2 A 10016 box sits on a

raup with stope 3 = m

Find components of gravity

along/ orthogonal to ramp

#it
= = (4 , 37

only direction( walters (
i = gravity = (a-100)



componentalongvPhijan =

i ~ = LT

zo (4 ,3) = 12 (4 ,
3)

I <- 48. -36)
component ortho

and
-

12

- Projec =

< 01- 100) - <-48
-363 =

< 48. - 647t ↳
Ex3(Geometry
S. A parallelogram is
a rectangle



dumoralshave same length

# #
-

:
diegards have same leath

#

(n - w ) = (n+ )
El
li = In+RI
-

-2. +Fo = in +Zi
- Ruiv = 2 wi

It
Hii = 0
I
=
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rectangle

11
.4 If i = [2 , 22 , u37

v= VI , va ,
vz]

Then theproduct is

Xi = CuaVs-usV2
,
- (u ,ug-ugvil ,

nivz -un]

Easy to remember using
2x2 determinant' determinants

:

-

· a b 2x) array of

Cd numbers

(2) = ad -mc) = det(2)))
El (a) (5) = 11

123) = 9 - 12 = -3



3x3 determinants- -

IDabc I
~

minus

def = a/hi) -bil
gi

+ 2)
Ex (a)
21 3

I 255) =
21's 51 - 1155) + 3/2s
2( 19) - (27) + 3(40)
=
- 38 - 27 + 120 = 55



14/ =

215) - 3/425) +/2
- 10 - 24 + 14 = -20

Now cross-product becomes

easy :

x =/ ) =
i (n +vz- uyn) - j(u ++z- u94)

Hs(n ,vz- 434)
Ex3 i = 4 ,

2
,
3)

-

= < 1
,
0 ,27



xv= I iii) =

10 2

j . 4 - j(2-3) +k(0 -2)
(7

, 1 ,
-27

xi I jk I=

io2
12 3

= (-41- 1 , 2)

i xi = Ii 1 = 0 !
23


